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QUESTION 1

What is the aim of a unit test? 

A. to demonstrate that a unit meets the functional specifications 

B. to demonstrate that a unit meets the technical specifications 

C. to demonstrate that a unit integrates properly with other units 

Correct Answer: B 

 

QUESTION 2

See the procedure flow below: 

How many test situations are produced when the coverage type paths with test depth level 2 is used? 

A. 3 

B. 8 

C. 12 

D. 13 

Correct Answer: D 
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QUESTION 3

See the specification below: 

Apply the Decision Table Test to the above specification. When doing this, use the coverage type multiple condition
coverage. How many logical test cases result in an error message? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

 

QUESTION 4

See the specification below: 

How many logical test cases can be generated if a semantic test using the coverage type decision points modified
condition/decision coverage is used? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: C 
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QUESTION 5

During the Process Cycle Test, the coverage type paths is used. In which way can coverage be varied here? 

A. by using boundary values 

B. by using a higher or lower test depth level 

C. by taking equivalence classes into consideration 

Correct Answer: B 
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